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1- AS

Al== 1 x 202 = 1256.637 mm? _ == -
A2 = gz X 5 X 40 = 986.96 mn? A4
A3 =7 x 50 x 60 = 9424.778 mm? )

A4 = gz x 5 % 60 = 1480.44 mm? A3

A5 = w(33%2 — 30%) = 593.76 mm?* - Az

1480.44 + 593.76) = 17497.59 Al
= D =132.28 mm

D? = 5(1256.637 +986.96 + 9424.778 + @ G
»

2.
2% 100 = —— x 100 X= 0.756
D 132.28

m; = 0.54,m, = 0.77,m3 = 0.8, my = 0.82 33 Jsll 0a
di =my.D = 0.54 X 132.28 = 71.43 mm
d, =m.d; =0.77 X 71.43 =55 mm °
d; =my.d, =0.8xX55 =44 =d; =50mm
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v 6=15'-'§/§E‘T'x' 8228 _ 136 mm - . - Fresmeid
d \] 71.43

df =7143 +1=7243i.m
df =72.43—-2x136=069.71 mm
d; =55+1=56mm

=56 —2x1.36 =5328mm
d; =50+1=51mm

d¥ =51 —2x1.36 =48.28mm

3-

] =132.28+ 6 X5 =162.26 inm
=>B=15Xt=15mm, H = 142.28
W=H+ 2B =142.28+ 3 = 145.28 mm

C=1+4+B=163.78mm
A=t+0015H =1+ 0.015 x 142.28 = 3.13 mm °
L-A  2500-3.13
N=—=——=15
c 163.78

Aproduct = 5(132-2? —3 X 2% =12524.46 mm?

L) dele = ¥protuct o g = 191252446 o0 e oo
strip 10 145.28X2500 100 —_ 51.72 /0
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_n : 42.2
Ly = Jox 176 x (2222 10 ?) +10 +2 X 2m X 7.5 = 525.94 mm

)
£

%1 B 1 E s .
= A 1T =214 D0 “ AR |




F, = L,.S.7, = 525.94 X 1 x 256 = 134.64 kN

__ri_ 132.28 142.28 — 43169 mm
Ly = ==X 176 x (22 + = ) +10

F, = 431.69 X 1 X 256 = 110.512 kN

Ly=2x (5o x110% (== ks 10) = 623.91 mm

F; = 623.91 X 1 X256 = 159.721 kN

F, =m. d1.5.6;<(d31) - 0.65) _ 7% 71.43 X 200(1.852 — 0.65) = 53.946 kN

Fs = m x 55 x200(1.298 — 0.65) = 22.324 kN
Fg =m x50 x 200(1.1 — 0.65) = 14.137 kN

F, =7 x 60 x 1 x 256 = 48.254 kN
u.x.:\_ul\ sl ad) dlasl LJM\ u.us.d\ ’6_,33\

Ftot = Z Fi = 543.54 kN - ,
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W, =y.V = y.4,.100 = 2.806 = 2.83 X A, X 100 =
A, = 9.915 cm?
2 2
Ay =5 = 22 = 314159 cm?
N

N, =F.V, = F ==

_ 1_4_a _ 9915 _ ,mm
Vp Ay = Vo Ag = Vi = Vo3t = 6337 X 5m0 = 20
=2x1073 2=

sec

= F =-=2% = 18650 x 10° N
2X10

_F _ 18650x10% N
F = Oyl 'Ab = Oy = a5 = —3_14_.15_9 - = 593.65 oz
0w = 75.(08+15 x n%?)
a

_ 314159 \ _ . N
Gy =60 % (08 +15 xIn=0 ) =359.03 —

_ . 4x L
Oy, = Oyt (oxb - cry).e D
4X0.07 meax

593.65 = 60 + ( 359.03 — 60).¢ 20
533.65 = (299.03). e %-014*Lmax
= Ly =41.371cm

%uj‘;w __A' _~Sec.
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¢ = 6337 x 107% x 3600 = 228.132 —

(el ol Rly! O A
ton

-3 —
n =W, = 228132 x 2.806 x 107* = 0.64 ;70

(a0 23 ) 1R Jpud) o2

1-

N.=T.w

T=04.F.L =N, =048x0,. w.W.L?
F=12x0,W.L

Nb =Tb.0)

Ty =25 (= Np=03xp,0.doWl
F=12xa,W.L
w = ZZOn = 2":200 = 20944 4 . |
N, = 048 x 200 x 10° X 1.2 X 20.944 x L? = 2412.75 X 10° L2

N,,_03><001x200x106x02><20944xL_251><106L
N, _n (2N, + 4N,)
550 x 103 =—(4825 512 + 10.04L) X 105 =

4825.5 X 103L2 + 10040L —467.5=0
= L = 0.00885m = 8.85mm

- Ak =L7:-= 0.522 mm
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Vv, =20 R = 20.944 x 0.15 = 3.1416 [Z| = 1130976 || @

G- 1_A,x1><y_(4478x1200) X 107 x 7850 = 42.182 -2

ton

agshalldaidl 4alsl = 11309.76 X 42.182 = 477077 = 477.077 —

L) g



